

question de cours

$$\vec{v} = \frac{d\vec{ON}}{dt} \quad \text{avec } \vec{ON} = r\vec{e}_r + z\vec{e}_3$$

$$\vec{v} = \dot{r}\vec{e}_r + r\dot{\theta}\vec{e}_\theta + \dot{z}\vec{e}_3$$

(1pt)

avec

$$\begin{cases} \frac{d\vec{e}_r}{dt} = \frac{d\vec{e}_r}{d\theta} \cdot \frac{d\theta}{dt} = \frac{d\vec{e}_r}{d\theta} \cdot \dot{\theta} \\ \frac{d\vec{e}_\theta}{dt} = \frac{d\vec{e}_\theta}{d\theta} \cdot \frac{d\theta}{dt} = \frac{d\vec{e}_\theta}{d\theta} \cdot \dot{\theta} \\ \frac{d\vec{e}_3}{dt} = 0 \end{cases}$$

$$\begin{cases} \vec{e}_r = \cos\theta\vec{e}_x + \sin\theta\vec{e}_y \\ \vec{e}_\theta = -\sin\theta\vec{e}_x + \cos\theta\vec{e}_y \end{cases}$$

(0,5pt)

$$\frac{d\vec{e}_r}{d\theta} = \frac{d}{d\theta}(\cos\theta\vec{e}_x + \sin\theta\vec{e}_y) = -\sin\theta\vec{e}_x + \cos\theta\vec{e}_y = \vec{e}_\theta$$

$$\frac{d\vec{e}_\theta}{d\theta} = \frac{d}{d\theta}(-\sin\theta\vec{e}_x + \cos\theta\vec{e}_y) = -(\cos\theta\vec{e}_x + \sin\theta\vec{e}_y) = -\vec{e}_r$$

$$\frac{d\vec{e}_3}{d\theta} = 0$$

(0,5pt)

$$\vec{a} = \frac{d\vec{v}}{dt} = \frac{d^2\vec{ON}}{dt^2} = (\ddot{r} - r\dot{\theta}^2)\vec{e}_r + (\dot{r}\dot{\theta} + r\ddot{\theta})\vec{e}_\theta + \ddot{z}\vec{e}_3$$

(1pt)

exo 1  $\vec{v} = \vec{i} + (2t-3)\vec{j}$

1)  $|\vec{v}| = \sqrt{1 + (2t-3)^2} = \sqrt{4t^2 - 12t + 10}$  m/s (0,15 pt)

2)  $\vec{a} = \frac{d\vec{v}}{dt} = \frac{d}{dt} (\vec{i} + (2t-3)\vec{j}) = 2\vec{j}$  (1 pt)

$|\vec{a}| = \sqrt{(2)^2} = 2$  m/s<sup>2</sup> (0,15 pt)

3)  $\vec{on} = \int \vec{v} dt = \int [\vec{i} + (2t-3)\vec{j}] dt$  (0,15 pt)

$\vec{on} = (t + c_1)\vec{i} + (t^2 - 3t + c_2)\vec{j}$  (0,15 pt)

$\vec{i} \rightarrow n(0,3)$  à  $t=0$   $\left. \begin{array}{l} x_0 = 0 = t + c_1 \Rightarrow c_1 = 0 \\ y_0 = 3 = t^2 - 3t + c_2 \Rightarrow c_2 = 3 \end{array} \right\}$  (0,25 pt)

$\vec{on} = t\vec{i} + (t^2 - 3t + 3)\vec{j}$  (0,15 pt)

4)  $\left. \begin{array}{l} x = t \text{ (1)} \\ y = t^2 - 3t + 3 \text{ (2)} \end{array} \right\}$  (1) ds (2)  $\Rightarrow y = x^2 - 3x + 3$  (2 pt)

5)  $\vec{a} = \vec{a}_T + \vec{a}_N$  (repère de Frenet) (0,15 pt)

$\left. \begin{array}{l} a_T = \frac{dv}{dt} \\ a_N = \frac{v^2}{R} \end{array} \right\} \Rightarrow a_T = \frac{d}{dt} (\sqrt{4t^2 - 12t + 10})$  (0,15 pt)

$a_T = \frac{8t - 12}{2\sqrt{4t^2 - 12t + 10}}$  (0,15 pt)

$a_T = \frac{4t - 6}{\sqrt{4t^2 - 12t + 10}}$  (0,15 pt)

- 2 -

$$a^2 = a_T^2 + a_N^2 \Rightarrow a_N^2 = a^2 - a_T^2 \Rightarrow a_N = \sqrt{a^2 - a_T^2}$$

$$a_N^2 = (2)^2 - \frac{(4t-6)^2}{(4t^2-12t+10)} = \frac{4}{4t^2-12t+10}$$

$$a_N = \frac{2}{\sqrt{4t^2-12t+10}}$$

$$a_N = \frac{v^2}{R} \Rightarrow R = \frac{v^2}{a_N}$$

$$R = \frac{4t^2-12t+10}{\frac{2}{\sqrt{4t^2-12t+10}}} = \frac{(4t^2-12t+10)^{3/2}}{2} \text{ m}$$

$$\text{ou } R = \frac{2}{\sqrt{2}} (2t^2-6t+5)^{3/2}$$

ex 02

PFD:  $\sum \vec{F}_{\text{ext}} = m \vec{a} \Rightarrow \vec{F}_1 + \vec{F}_2 = m \vec{a}$

$$a_1 \sin \omega t \vec{i} + a_2 \cos \omega t \vec{j} = m \vec{a} = m \frac{d\vec{v}}{dt}$$

$$\vec{v} = \int \vec{a} dt = \int \left( \frac{a_1}{m} \sin \omega t \vec{i} + \frac{a_2}{m} \cos \omega t \vec{j} \right) dt$$

$$\vec{v} = \left( -\frac{a_1}{m\omega} \cos \omega t + c_1 \right) \vec{i} + \left( \frac{a_2}{m\omega} \sin \omega t + c_2 \right) \vec{j}$$

$$\text{at } t=0 \quad \vec{v} = 0 \Rightarrow \begin{cases} -\frac{a_1}{m\omega} \cos 0 + c_1 = 0 \Rightarrow c_1 = \frac{a_1}{m\omega} \\ \frac{a_2}{m\omega} \sin 0 + c_2 = 0 \Rightarrow c_2 = 0 \end{cases}$$

$$\vec{v} = \left( \frac{a_1}{m\omega} - \frac{a_1}{m\omega} \cos \omega t \right) \vec{i} + \frac{a_2}{m\omega} \sin \omega t \vec{j}$$

$$\vec{v} = \frac{a_1}{m\omega} (1 - \cos \omega t) \vec{i} + \frac{a_2}{m\omega} \sin \omega t \vec{j}$$